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HELYSZINRAJZ M1:500
Epitési Gvezet: Gksz 6.3
Tervezett beépités:  szabadonalld
elokert: 5m
oldalkert: 7,5més 13,5 m
hatsokert: 7,50 m
Telek teriilete: 4500 m?
Beépitett teriilet: 2100 m?

Beépitési szazalék:
Burkolt felilet:
Zoldfelilet:

Zoldfellileti szazalék:

Epitménymagassag:
Gerincmagassag:

Hasznos alapteriilet:

+-0,00 szint:

Parkolé mérleg:
tizemhelyiség:

1 db sziikséges:
0ssz.: sziikséges:
tervezett:

46,7% max..50%
1053 m?

1347 m?

29,9% min.:20%
547 m max..15,00 m
6,97 m

2010,32 m?

+130,00 mBf

907+828 m?
200 m? -ként
20 db
28 db




